-

ZEE/NAR

(¢N KAH-170N =

I7—=/\r KO/VT X

—

> TP7—NAATHDRAD, ABT—RI—DHBEEERCEID. FHIAMNI0OKN (0.5MPalF) THY FUBKRTEE T,
» AECHDYNITSVITUN—ZRIETDIET, TEPLKTOMDRS I FOBENTIEETT,

CIiE = OF BEESS |97 (0.5MPa) 5= g ~O0—7>
170mm 86mm 157mm 104mm 30KN 63kg 10mm
G@:@n ]
L

T —s

R

110

)

1 40—>‘

—I | l—18

170

190

189
104




37

- I Ha

~
—

«
s

46 11 19 32 2133

39 64 6216595817 5 60 61 4 48 47 3 2 EIJ 1
T /
3/ /@ / /
I
sl
_ LN C

B

260 42 27 287 36 2943 55 1356 1\2 5354 57 15 14 52 41 J/E\
Pl
A
No. & uE No. 2 "E
1] ~—2 1 37 | CBM12X30 4
2 [ 251K 1 38 | CB M8X35 6
3 2U—7 1 39 | CB M12X40 4
AR ED 1 40 | CBM10X35 2
5 Fa1—7 1 41| CBM10X25 1
6 YUvI— 1 42 | CBM10X30 1 z
AR, - 1 43 | CB M6X95 4 E
8 | A EAN— 1 44 | CBM6X20 4 U
9 0= 2 45 | CBM6X10 2 ’
10 | A5 FIETL—k 2 46 | M= M5X15 4 7
11 | figReHF— 1 47 | XY M8X25 1 v
12 | W75vy 1 48 | AR vIN—H5— 1 5
13 1EFvk 1 49 | AU—TH5— 1
14 | ERRYA 1 50 | O—JLEY $5%30 1
15 | Ovk 1 51 | /vJEY $8X40 2
16 | @OIEEY 1 52 | 0U¥J P70 1
17 | ERRYB 1 53 | 0U¥J G75 1
18 | XO5# 3 54 | 0U>J P18 1
19 | I5YTUIN— 2 54 | NyOPyTUVT PI8A T2 2 &
20 | YN= 2 55 | OU¥J G30 1 =
21 [ Fvv7 2 56 | U7 P8 1 L
22 | B/ A TA 1 57 | SARS—JUPNY-18 2
23 | B#/ATB 1 58 | 0U>J P60 1
24 | F— (16X25X10D 2 58 | Ny OPv7TUT P6OR T2 1
25 | g 1 59 | /¥y*> USI60+70+6 1
26 | F1—J 71 v7 17 PFOI1-01 1 59 | Ny OPvTUD P6OR T2 1
27 | K—RZv7)L PB6-0TM 1 60 | OUY7 P30 2
28 | K—RZv )L PL6-OTM 2 60 | N\yOFy7UvT P30 12 2
29 | K—RZ w7 )L PC6-0TM 1 61 | FIARY—ILVC30-456 2
30 | F—RZv )L PL6-OTM 1 62 | OUY7T AS568-335 1
31 | @EMTILR= v 7L MLN6-PT1/8 4 63 | /\v*> USI30-38-5 1
32 | O—JLEY ¢3X25 2 64 | OU~T P12 3
33 | @BOAILINR 1,0X14X35X7%5 2 65 | OUvT P8 2
34 | 8 d6X b4 1
35 | 8 d6X b4 1 RERIVE M16X65 N.WH 2
36 | TPR—R 06X D4 1 WAV RIL (1768) 1

O BREFCOVTREBBOELDE TS0,

e



